IB/INKZET> DD DE

7T B R T ] il 7T B K 5 & il
EESEN 161 190 351 93 [Fri— 124 141 265 89
Hiats 175 190 365 88 [F= - 133 140 2173 94

i X B 117 1,239 2,356 689 | XEIWL=TH 160 154 314 104
ER1EE 49 48 97 40
FiA—RX 229 231 460 157 | KEWMWTH 85 100 185 58
== ¥ 116 141 257 12 | KEWATH 100 96 196 63
FA=K 121 121 242 77 | KEWATH 12 83 155 52
FAmX 255 239 494 149 [ XEIWETHE 155 149 304 105
FAARKX 144 150 294 86 | KXEIW/\TH 96 16 172 18
R 18 80 158 58 | KEIWWATH 144 125 269 111
RABIW—THE 160 153 313 93 | F RN 160 165 325 140
RABEWLZ=TAH 114 117 231 68 | FRt 158 194 352 144
RABIWL=TH 141 143 284 85 |BREEY —TH 80 60 140 53
RABWLMTH 12 81 153 47 Hh X 1,902 , 878 3, 780 1,424
i X i , 430 1,456 2,886 892
PREWLZTH 117 123 240 81
TR 108 107 215 51 [P ARBEIL=TH 143 166 309 111
L 101 104 205 53 [P AREILET B 105 108 213 14
LA HT 63 113 176 100 (R ARELATH 97 114 211 19
INZALER 15 13 148 42 [ KREWART B 101 108 209 75
NEIE 154 157 311 106 [P ARELETH 130 133 263 92
Hh X B 901 554 1,055 352 | KREW/NTB 93 104 197 66
PARBELUATE 89 90 179 59
A REET 134 128 262 94 |t XREWL+TAH 140 135 275 81
AXEW—TAH 252 219 4N 199 [ AXBEL+Z=TH 169 200 369 150




